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If the de Broglie wavelength of the electron in nt Bohr orbit in a hydrogenic atom is equal to 1.5 wao
(a0 is Bohr radius), then the value of n/z is:
(1) 0.75 (2) 0.40

(3)1.0 (4) 1.50

The graph between |¥|? and r(radial distance) is shown below. This represents:

|V [?

(1) 1s orbital (2) 3s orbital

(3) 2p orbital (4) 2s orbital

The de Broglie wavelength of an electron in the 4t Bohr orbit is :
(1) 4nao (2) 2nao

(3) 6nao (4) 8nao

The correct statement about probability density (except at infinite distance from nucleus) is :

(1) It can be zero for 1s orbital (2) It can never be zero for 2s orbital
(3) It can be negative for 2p orbital (4) It can be zero for 3p orbital
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The plots of radial distribution functions for various orbitals of hydrogen atom against 'r' are given below:
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The correct plot for 3s orbital is :

(1) D 2) B

(3 A) 4 (©)

A certain orbital has no angular nodes and two radial nodes. the orbital is:

() 2s
(3) 3s

(2 3p
(4) 2p

The number of radial and angular nodes in 4d orbital are, respectively

(1)1land 2
(3)1land 0

(2)3and 2
(4)2and 1
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8.

10.

Which of the following is the correct plot for the probability density W2(r) as a function of distance 'r' of the

electron form the nucleolus for 2s orbital?
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The number of given orbitals which have electron density along the axis is
Px, Py, Pz, dxy, dxz, dz2, dx2 —y?
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The wave function (W) of 2s is given by

1 1 1/2 .
Yoz ——| — 2___ e—r/2a0
T 2Jen [aoJ [ aoj

At r = ro, radial node is formed. Thus, ro in terms of ao
()ro==2 (2) ro = 2a0 (3) ro = 4ao (4) ro=ao

Excelling in IIT-JEE Since 2001...

Resonance”
Educating for better tomorrow

Growing in Pre-Medical Since 2011...

Pre Medical Division: CG Tower-2, A-51(A) IPIA, Behind City Mall, Jhalawar Road, Kota (Raj.)-324005

Website: www.resonance.ac.in | E-mail: contact@resonance.ac.in

Toll Free : | 1800 258 5555 | CIN: U80302RJ2007PLC024029



mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx

